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Q1. The principle due to which circular patches of light is seen under a tree during day time, is
similar to that of image formation by a

e Rgia F w0 R F 9 7% O F A T F AR O #@ S@r Sar g, I8 S At e F
H grar g7
(a) concave lens / ade &

(b) pinhole / =g
(c) photographic camera / ®IEHUTIH® FH
(d) convex lens / 3T &

Q2. When a strong beam of light is passed through a colloidal solution, the light will

9 U FIATS AT THTHTT % HTEAH & ThT1LT it Teh AT S qTRG T ST &, qT Th18T F47T -
(a) Be scattered / TSI T TehIvT T

(b) Pass unchanged / sraf¥afaa fHeher ST

(c) Be absorbed / staeToa g1 SATUS(T

(d) Be reflected / Wiafefara T STTUs(T

Q3. Mirage is an example of

TGO e T T IR 72

(a) refraction of light only / &<t STl T ST

(b) total internal, reflection of light only / &<t AT ST hael ThTeT T Ui T

(c) refraction and total internal reflection of light / STH@T ST ST AT FT AT AT Ta e
(d) dispersion of light only / &< TTeT T HeATa

Q4. The phenomenon of light associated with the appearance of blue colour of the sky is

STHTST o A iel T T STTRATT & [ THT T TSHAT ¥ FIT gl FATAT B ?
(a) interference / 2T

(b) reflection / Sfdfaa @ | _?_dde; 2547 _
(c) refraction / sTqad= est oeries
(d) scattering / SHTeT IO RRB AI.P 20 18
Q5. Lens in made up of ?tage'"
I ——— (Physics & Maths)
25 Total Tests
(a) pyrex glass / qTE LT TATH E
. .. v"10 Mocks for Part 'A’
(b) flint glass / f¥ee = 5 Mocks for Part 'B (Physics & Maths)
(c) ordinary glass / ATITLOT 19 v~ 10 Practice sets for Part 'B'
Physics & Math
(d) cobalt glass / FTaTee AT (Physics & Maths)

1 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q6. The speed of light will be minimum while passing through-
e TR au YT i T g gidt 8-

(a) Glass / &=

(b) Vacuum / ==

(c) Water / 9T+t

(d) Air / T

Q7. Waves used for telecommunication are-

FE=T & forg e e Y e v g R Srar § -
(a) Visible light / 33 I=h121

(b) Infrared / T=F T

() Ultraviolet / 9¥TevT+T

(d) Microwave / ATS#T TGT

Q8. Light from the Sun reaches Earth in about:
T & Tarer T g2 Fohaeit X H ag=ar g

(a) 2 minutes / e

(b) 4 minutes / =

(c) 8 minutes / A=

(d) 16 minutes / ff=

Q9. When light waves pass from air to glass the variable affected are-
ST THTLT TC T GAT & i T TgAT ST g af __ TATAd 81 &-

(a) Wavelength, frequency and velocity / TETee, fﬂlﬂlr% AT AT

(b) Velocity and frequency / 3T 3fi¥ 3117{%

(c) Wavelength and frequency / TT<ed ST g

(d) Wavelength and velocity / T3T<eT 3T T

Q10. Which one of the following energy conversion takes place in carrying out the process of
photosynthesis?

TERTLT HHTOT 1 TRAT &l U FT § AAfefaa § & 9 97 ST Sra<or grav 82
(a) Light to chemical energy / T&Tl & TETAA® ol

(b) Light to thermal energy / YTl & AT AT

(c) Thermal to biochemical energy / T8 & S THTAAE FHolT

(d) Heat to kinetic energy / 60T & ITfefier Zeft

Q11. A bird sitting on a high tension electric wire does not get electrocuted, because
T grece faorell & q1< UX S Tt Fif File Ag1 a9rar g, T

(a) it has high resistance / 7g 3g Jfaag g

(b) the body is earthed / &<I¥ AFTHA &

(c) there feet are not good conductors of electricity / 37 9% faISTe(t % FATAF A5l &

(d) its feet are good insulators / 37 I¥ FEATIELT &
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Q12. Which of the following is arranged in order of decreasing conductivity?

e § & F17 91 Tedt Arerehar & 79 | Saeyg T v g?
(a) Copper, aluminium, steel, silver / FIIT, Wﬁﬁ'ﬂﬁ, T, =7t
(b) Aluminium, silver, copper, steel / TeHIH=H, FT&T, HIAL, T
(c) Copper, silver, aluminium, steel / FTIT, FT&T, TeH T, T
(d) Silver, copper, aluminium, steel / =&Y, FUT, TegH A, T

Q13. If a copper wire is increased to double its length, its resistance will become
i T F A At FATS T QY AT HC & AT 7, T T TTaKrer 741 gemm?

(a) four times / =TT AT

(b) one-fourth / T TS

(c) double / ¥ AT

(d) half / e

Q14. Superconductor is the conductor whose is zero
sfaTear ag Fewe< g P ek

(a) potential / &HaT

(b) current / Fi&

(c) resistance / Tfa<rer
(d) inductance / STfersTa=

Q15. After long periods of use, a grey spot develops on the inside of a bulb. This is because
AT AT F STANT F TS, ToF & HaC Tah § T T G a9 AT 8. g AT 3l § T 16

(a) the tungsten filament evaporates and collects / ZTee faTHe FTIoqT EraT % AT TR BT ST %
(b) the heat of the bulb scorches the glass at the top / =& #T THT i 7 =T 1 T <t @

(c) dust inside the bulb condenses on the top / T # &Y & T IT STAT BT ATl &

(d) glass undergoes a change due to the heat / ZFHT & T TATH | FaATH ATAT &

Adda 247

Q16. Indicate the false statement about the resistance of a wire @ ‘ Test Series

A F TR F IR H T/ q FAT qT HIF T4 57
(a) It depend on material of wire / Tg qTX & TTHUT 9T AT FaT g
(b) It is unrectly proportional to the length of wire / 7g TG &7 &

T ¥ TS 3 " AT § ASSISTANT LOCO PILOT 2018
STAGE -Il

(c) It is directly proportional to the area of cross-section of wire / I8

T 6 HI-HFIMT o &THA | T AT A ¢
(d) Resistance of metallic wire increases with increase in [ 10 FULL-LENGTH MOCKS [ PART A)

temperature/cllHHldﬁﬂﬂ\gaﬁﬂl% m%wmsﬁ%ﬁamg
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Q17. For which of the following substances, the resistance decreases with increase in

temperature?

Ruferiea garet & & e arawe § gfe & arer sfaer 9 g stran g2
(a) Pure silicon / <& IEIREIG]

(b) Copper / qtaT

(c) Nichrome / fR#®

(d) Platinum / wtfeqa

Q18. A transformer works on the principle of
T SRR e g a< w1 F3ar 82

)a) self induction / T J20T

)b) mutual induction / 3TTHT JT0r

)c) generator / ST<EY

)d) inverter / T¥ex

Q19. In AC circuits, AC meters measure

Ac gfFe #, AC HieX 9T 9T9aT g7

(a) mean values / 39d s

(b) rms values / AXTHTH HIT

(c) peak values / 9% 7T

(d) mean square values / TT&T a3 919 s

Q20. Magnetism in materials is due to

et ATt ® e v FROT |

(a) electrons at rest / TeraF2ie i Fowar

(b) circular motion of electrons / Se&A sl TAT I
(c) protons at rest / STt #iT ffozar

(d) all neutrons at rest / T Rk #¥ oA

Q21. Magnetism in materials is due to

et ATt ® e e FROr g

(a) electrons at rest / Zela2i i fozar

(b) circular motion of electrons / Te#IA &l FAT T
(c) protons at rest / STt T Ffoqzar

(d) all neutrons at rest / Tt =i T feorar

Q22. The earth wire of a cable is connected to

T Fad i f a fHad JE1 et

(a) the outer metallic body of the appliance / STHIIT & FTg grq T T
(b) the fuse of the appliance / STHIT & T &

(c) the filament of the appliance / STFHT & THATHE &

(d) short circuitry of the appliance / STHTIT  9T{E TRTT &
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Q23. Tungsten is used for the manufacture of the filament of an electric bulb, because
ETEEH & ITANT TATHEH I & (AT & AT & forg T srar g, F=aifF

(a) itis a good conductor / Tg TF TATAF §

(b) it is economical / T FFFHMIAT &

(c) it is malleable / I8 =T &

(d) it has a very high melting point / 3g o1 &g g

Q24. The device which converts AC to DC is
I ST AC #T DC # gRafda #ar 8?2

(a) oscillator / AFhIerex

(b) simplifier / FEFI=HRT

(c) rectifier / THFTETAT

(d) None of these / T4 & FIs Aal

Q25. Which of the following metals is used for the manufacture of heating elements provided in
electric iron?

TR A ® 93 g u St a@t F fRator ¥ forg Mefofes & & w1 @t arget w1 o B sar
&2

(a) Nickel / et

(b) Chromium / FwTHIH

(c) Nichrome / s

(d) Tungsten / 23&a

Q26. Electrostatic precipitator is used to control the pollution of

TATEIELCH ATHIH FT TEAHTA U &t AT w3 % forg faar Srar 87

(a) air / a1q

(b) water / STt

(c) noise / &t @ | Adda 247

(d) thermal / F=H= Test Series
Q27. Tape recorder should not be kept near one of the following HRB ALP 20 1 8
things Stage-II
7 Rt 1 st & & B & arg 77 < s SriRe? (Physics & Maths)
(a) clock / ==t 25 Total Tests

b WAt LD v"10 Mocks for Part 'A'’

(b) magne / - - . v 5 Mocks for Part 'B' (Physics & Maths)
(c) electrical switchboard / T(T#¢as FF 9T v~ 10 Practice sets for Part 'B'

(d) radio JESER (Physics & Maths)
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Q28. Which of the following is a good conductor of heat but a bad conductor of electricity?

TTH | T AT HEAT T GATAT § AT [SSTe(l 1 FATAS 57
(a) Celluloid / #=g=T=E

(b) Rubber / T&E

(c) Asbestos / 38

(d) Mica / 19+

Q29. A photostat machine works on

TF wiereee wefie e frgia o i <1 872

(a) electromagnetic image making / Ta=[d@ TFahi T e 9T
(b) electrostatic image making / THFEEE[Eeh i TATH

(c) magnetic image making / Jah1 T i TATH

(d) thermal image making / I8 i a9

Q30. Lightning is caused due to

a2 e ¥ s ST 82

(a) electric power / far=ra orf<h

(b) electric discharge / fasTett &1 Az
(c) electric leak / ﬁ%’cf ECIED

(d) electric pressure / fa<Tett &7 TaTa

Q31. A periscope works on the principle of
T IR e fRrgia o e ikar 872

(a) refraction / Iad=

(b) total internal reflection / e AAE T taa
(c) diffraction / faaas

(d) reflection / wfafaa

Q32. Which one of the following lenses should be used to correct the defect of astigmatism

IEaT=r & A w7 3 e F forg Rafarfea & & .19 & 9 1 ST T srar arfRe?
(a) Cylindrical lens / SeHTHRIT &\

(b) Concave has / Saqe &g

(c) convex lens / ITA &H

(d) Bifocal lens / STSHIFA o

Q33.In alaser (say neon laser) all the atoms emit the light waves of
T A9 ® (At i) oy o) wahrer a0 &7 Scfsia i 8-

(a) Same frequency / THTH T

(b) Same amplitude / FHTT ATITH

(c) Same phase / HHTT =TT

(d) All the above / g THT
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Q34. ‘Short-sight’ in human eye can be corrected by using proper
AT AEl # ‘Fee 3 g 1 STIRT w5 g5t [T ST ahat 87

(a) convex lens / 3T =&

(b)concave lens / JFqA &

(c) cylindrical lens / SEATHTT A&

(d) bifocal lens / STEHIHS &

Q35. Fibre optics work on the principle of
wTEa Afeeay B fgia o 1 Far 52

(a) scattering of light / S&hTer YT

(b) total internal absorption / £ AT STALTIT
(c) total internal reflection / <1 Fate gfafda
(d) optical rotation / Stftasher Tree™

Q36. Energy of ultraviolet rays is greater than
qETHT T i St R & sfee

(a) infrared rays / 3ta<<h fzoTt

(b) gamma rays / 19T fT0t

(c) X-rays / TFI-T

(d) cosmic rays / FEJTE A fahToni

Q37. Stars appear twinkling because of ....... of light.
faar g F HIT THHA g fe@rs 3d 572
(a) reflection / Ffafea

(b) scattering / TFTT FhIOTT

(c) emission / IS

(d) asbsorption / SFSTTEOT

Q38. In mirrors, the back surface is coated with a thin layer of

T #, ot aag &t IIAT 9T F 9T AT grer g ?

(a) mercury / 91T

(b) silver / =Tar @ ‘ Adda 247
(c) red oxide / AT ATFATES Test Series

(d) silver nitrate / ffea¥ ATEee

Q39. An optically regular plane surface reflects a beam of light
T Aot AT GHad g T HT 17 & WAt 9q vLar g

(a) as a parallel beam in one direction /T e § TG T F T H STAGE -l
(b) as diffused beams in all direction /T feermsti ¥ fAag T F =T H
(c) as parallel beams in all direction/&¥T fZermsii H FHGT &9 F €T H * 10 FULL-LENGTH MOCKS (PART A)

(d) as a different beam in one direction/T# =T & U T T fiH F =T H

Bilingual
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Q40. Who measured the velocity of light first?
TEHAT ST THTL T AT et JT9T AT?

(a) Galileo / refiferaT

(b) Newton / &

(c) Roemer / THY

(d) Einstein / sre&d

Q41. What is the wavelength of visible spectrum?
39T TaeH $iT TETeed FT §

(a) 1300 A to 3000 A

(b) 3900 A to 7600 A

(c) 7800 A to 8000 A

(d) 8500 A to 9800 A

Q42. An electron microscope gives higher magnification than an optical microscope, because

T TAFEIT ATSHEHIT T S Ceawed AT it AT § Y L 3T §, Tl

(a) it uses more powerful lenses / Tg TTerF STRIATAT FH FHT ITANT FILAT &

(b) the velocity of electron is smaller than that of visible light / ZeieF2i #T T FERINEAN] T SEEL qZrerg
(c) the electrons have more energy / ToFi=l § TTerF Foll Il %’

(d) the wavelength of electrons is smaller as compared to the wavelength of visible light / 39T ThT1r T

T T AT H TAFEIAL 01 T <2 Flel g

Q43. The mass-energy relation is the outcome of
AT-Zo11 Gael fe &7 AT §

(a) quantum theory / Few Frgia

(b) general theory of relativity / FTIEAT T GTHTT Fgia
(c) field theory of energy / SSTT & &= forgia

(d) special theory of relativity / @TeraT &7 farere frgia

Q44. A simple microscope consists of

T TETL0T ATShHIEnIT (66 & I gIaT 872

(a) a short focus convex lens / T& F ®IHe ATAT IAA AF
(b) a long focus convex lens / T &e ®IFHT ATAT IAA A

(c) a short focus concave lens / T& H wIFHE ATAT AAqAA A H
(d) a long focus concave lens / T& e RIFE ATAT TTqA A

Q45. The speed of light with the rise in the temperature of the medium

et wreaw & arawT # gig F arer e iy i
(a) increases / F&dT

(b) decreases / I=dt &

(c) remains constant / THTT TEdT &

(d) drops suddenly / sr=T9* FZaT g
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Q46. Which one of the following is used for sun glasses?
T F FLH & 1T ITH & T a7 STANT 6T ST 872

(a) pyrex glass / qTE Lo TATH

(b) flint glass / f¥eie T8

(c) Crooks glass / & T8

(d) Crystal glass / Toeeet 7T

Q47. What is viewed through an electron microscope?

T TSI ATSHICRIT & ATEAHT & FT @T AT THhaT 32

(a) Inside of the human eye / AT 3@ # (&<

(b) Structure of bacteria and viruses / ST 3T FTALH T &1
(c) Inside of human stomach / 9199 U< & (&<

(d) None of these / H & #I< Tal

Q48. Which combination of colour is the most convenient during day and night time?

[ FHT A A7 GAIS 7 3T T F 997 % 0 a9 GIAems=a g7
(a) Organe and blue / AT 3/ T

(b) White and black / T 3fIT FTeAT

(c) Yellow and blue / =T 3% e

(d) Red and green / AT i< BT

Q49. The blue colour of water in the sea is due to

HSE | qIAT 7 A1 37 50 % FROT graT g

(a) absorption of other colours except blue by water molecules / T % 3TU:[3ﬁ' FIRT el 7 T FISFT T
T T AL

(b) scattering of blue light by water molecules / THT & 31'T[3ﬁ FIRT ATt TrereT it feae

(c) reflection of blue light by impurities in sea water / ¥q% & O H QQW FIT AT Tr9TT 7 Tiafae
(d) reflection of blue sky by sea water / 9% F ITHT & HTeT |1 &7 e

. . . . Adda 247
Q50. Rainbow is seen after rain because of hanging molecules of @ | Tesat. Series
water which act as

STET TR F T1E @ AT &, I AT RIS AR F HILOT v 8 RRB ALP 2018

ST e H F1d A 8 Stage-Il

(a) lenses / &f# (Physics & Maths)
(b) prism / TS 25 Total Tests

(c) mirrors / 0T v'10 Mocks for Part 'A’

v'5 Mocks for Part 'B' (Physics & Maths)
v~ 10 Practice sets for Part 'B'
(Physics & Maths)

(d) slabs / &

9 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

